— '; ' ) i
25 (‘) (B 'i } ’—) :".I 7\
Math 303: Quiz # 1

Fall 2017

t

o Write your name and Student TD mumber in the space provided helow and sign.

Name, Last Name:
ID Number:

Signature:

o You have 45 minutes,

o Give details of your response to each problem. You will not be
given any credit, if it is not clear how you have obtained your

response. T
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L (10 points) Find rveal numbers e . and o such that 0 = ey™de + oy dy is an exacl

dilferential, i.e.. there is a function f such that Q = df.
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2 (20 points) Find the veal and imaginary pavts of all possible values of sin (n(1 -+ 7)), To eel
full credit you must simplify vowr response as much as possible.
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3 (10 points) Calculate the Jacobian .(Jl )
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ol the coordinate transformation:  (ry..rp) —

(Y1. 1)

where
U= ('ns(.rf_‘i) Lo sintry). e == Hin(.rf:;) + 1y cos(a).
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Recall that - (y1-12) is the determinant of the matrix formed by the partial derivatives —h—
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